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Sequence of Rigid Motions
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10.  Using the grid below, sketch a triangle. Create your own sequence of rigid motions that includes a rotation, line reflection, and translation. Describe the sequence that you created. 
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15. Describe a sequence of rigid motions for the diagram below. 
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image6.png
In the diagram below, a square is graphed in the coordinate plane.

y

A reflection over which line does not carry the square onto itself?
M x=5 @) y=x
@y=2 ) x+y=4




image7.png
A sequence of transformations maps rectangle ABCD onto
rectangle A"B"C"D’, as shown in the diagram below.
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and

Which sequence of transformations maps ABCD onto A'B’
then maps A'B'C'D’ onto A"B"C"D'"?
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In the diagram below which single transformation was used to map
triangle A onto triangle B?

b e

(1) line reflection (3) dilation
(2) rotation (4) translation
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 In the diagram below, AABC and AXYZ are graphed.
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Use the properties of rigid motions to explain why AABC = AXYZ.
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In the diagram below, AC = DF and points A, C, D, and F are collinear on line .

Let AD'E'F’ be the image of ADEF after a translation along £, such that point D is mapped
onto point A. Determine and state the location of F'. Explin your answer.

Let AD"E'F"be the image of AD'E'F after a reflection across line £, Suppose that E” i located
at B. Is ADEF congruent to AABC? Explain your answer.
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In the diagram below, congruent figures 1, 2, and 3 are drawn.

Which sequence of transformations maps figure 1 onto figure 2 and
then figure 2 onto figure 37

(1) a reflection followed by a translation
(2) a rotation followed by a translation
(3) a translation followed by a reflection
(4) a translation followed by a rotation
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Which statement s sufficient evidence that ADEF is congruent to
AABC?

A F

(1) AB = DE and BC = EF

(2) LD = LA, LB=LE, LC=LF

(3) There is a sequence of rigid motions that maps AB onto DE, BC
onto EF, and AC onto DF.

ere is a juence of rigid motions tl may int A onto
4) The: nce of rigid that maps point A
point D, AB onto DE. and ZB onto ZE.
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After a reflection over a line, AA'B
congruent to triangle A'B

is the image of AABC. Explain why triangle ABC is
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In the diagram below, AABC has coordinates A(L1), B(4,1), and C(4,5). Graph and label
AABC, the image of AABC after the translation five units to the right and two units up
followed by the reflection over the line = 0.
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Describe the composition of the transformations.
v 2 i
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The grid below shows AABC and ADEF.

Let AA'B'C” be the image of AABC after a rotation about point A. Detemmine and state the
location of B if the location of point C"is (5,-3). Explain your answer.

Is ADEF congruent to AA'B'C? Explain your answer.
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Which sequence of transformations will map AABC onto AA'B'C’?
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(1) reflection and translation
(2) rotation and reflection
(3) translation and dilation
(4) dilation and rotation
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On the set of ases below, rectangle ABCD can be proven congruent
to rectangle KLMN using which transformation?
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(1) rotation
(2) translation
(3) reflection over the r-axis

(4) reflection over the y-asis




image21.png
Match the composition with the diagram.

A 'QQ B,Q .a c. B n.A .
ﬁ/? ’, ﬁ Wﬁ ,B

Rotate about Q. then reflect in . Reflect in

then translate perpendicular to ( .
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Triangle MNP is the image of triangle JKL after a 120° counterclockwise rotation about point Q.
If the measure of angle L is 47° and the measure of angle N is 57°, determine the measure of
angle M. Explain how you arrived at your answer.
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Describe a sequence of transformations that will map AABC onto ADEF as shown below.
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“Iriangle ABC and triangle DEF are graphed on the set of axes below.

Which sequence of transformations maps triangle ABC onto
triangle DEF?
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Quadrilateral ABCD s graphed on the set of axes below:
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When ABCD is rotated 90° in a counterclockwise direction about
the origin,its image is quadrilateral A’B’C'D". Is distance prescrved
under this rotation, and which coordinates are correct for the given
vertex?

(1) noand C'(12) (3) yes and A°(6.2)

(@) o and D'(2.4) (4) yes and B(~34)
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Triangle ABC is graphed on the set of axes below. Graph and label AA’B'C’, the image of AABC
after a reflection over the line x = 1.
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As graphed on the set of axes below, AA'B’

is the image of AABC after a sequence of
transformations,

Is AA'B'C’ congruent to AABC? Use the properties of rigid motion to explain your answer.




